
 SPECIAL MENSURATION SET-2 BY ALOK SIR

1. The area of a square is 196 cm 2, whose side is half the
ra dius of a cir cle. The cir cum fer ence of the cir cle is
equal to breadth of a rect an gle. If per im e ter of the
rect an gle is 712 cm, what is the length of the rect an gle?
Skeâ Jeie& keâe #es$eheâue 196 mesceer2 nw, efpemekeâer Yegpee Je=òe keâer ef$epÙee keâer DeeOeer nw~
Je=òe keâer heefjefOe DeeÙele keâer ÛeewÌ[eF& kesâ yejeyej nw, Ùeefo DeeÙele keâe heefjceehe 712
mesceer nw lees DeeÙele keâer uecyeeF& %eele keâjes?
(a) 196 cm
(b) 186 cm
(c) 180 cm
(d) 190 cm
(e) None of these
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2. The cost of build ing a fence around a cir cu lar field is Rs.
7700 at the rate of Rs. 14 per feet. What is the area of the
cir cu lar field?
14 ®0 Øeefle hegâš keâer oj mes Skeâ Je=òeekeâej cewoeve kesâ Ûeejes lejheâ leej ueieJeeves keâe
KeÛe& ®0 7700 nw~ Gme Je=òeekeâej cewoeve keâe #es$eheâue %eele keâjes?
(a) 24062.5 sq ft
(b) 24644.5 sq ft
(c) can not be determined
(d) None of these
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3. The to tal area of a cir cle and a square is equal to 2611 cm
2. The di am e ter of the cir cle is 42 cm. What is the sum of
the cir cum fer ence of the cir cle and the per im e ter of the
square?
Je=òe leLee Jeie& kesâ #es$eheâue keâe kegâue Ùeesie 2611 mesceer2 nw~ Je=òe keâe JÙeeme 42 mesceer
nw~ Je=òe keâer heefjefOe leLee Jeie& kesâ heefjceehe keâe Ùeesie keäÙee nesiee?
(a) 272 cm
(b) 380 cm
(c) 280 cm
(d) can not be determined
(e) none of these
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4. What would be the cost of build ing a fence around a
cir cu lar field with area equal to 32378.5 cm 2, if the price
per m for build ing the fence was Rs. 154?
Skeâ Je=òeekeâej cewoeve, efpemekeâe #es$eheâue 32378.5 mesceer2 nw, kesâ Ûeejes lejheâ leej
ueieJeeves keâe KeÛe& keäÙee nesiee, Ùeefo leej ueieJeeves keâe KeÛe& ®0 154 Øeefle ceeršj nw?
(a) Rs. 84683
(b) Rs. 86495
(c) Rs. 79326
(d) Rs. 98252
(e) None of these
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5. The length of a rect an gu lar plot is thrice its breadth. If
the area of the rect an gu lar plot is 7803 m 2, what is the
breadth of the rect an gu lar plot?
Skeâ DeeÙeleekeâej cewoeve keâer uecyeeF& Gmekeâer ÛeewÌ[eF& keâer 3 iegveer nw~ Ùeefo cewoeve keâe
#es$eheâue 7803 ceer2 nw, lees DeeÙeleekeâej cewoeve keâer ÛeewÌ[eF& %eele keâjes?
(a) 51 m
(b) 153 m
(c) 104 m
(d) 88 m
(e) None of these

# STAY HOME # STAY SAFE By Alok Gupta Sir



 SPECIAL MENSURATION SET-2 BY ALOK SIR

6. What will be the area (in sq m) of 1.5 m wide gar den
de vel oped around all the four sides of a rect an gu lar field
hav ing area equal to 300 m2 and breadth equal to
three-fourth of the length?
Skeâ DeeÙeleekeâej cewoeve efpemekeâe #es$eheâue 300 ceer2 nw leLee ÛeewÌ[eF& uecyeeF& keâer
leerve ÛeewLeeF& nw Gmekesâ Ûeejes lejheâ Skeâ yeieerÛes keâe #es$eheâue %eele keâjes, efpemekeâer
ÛeewÌ[eF& 1.5 ceer nw~
(a) 96
(b) 105
(c) 114
(d) can not be determined
(e) None of these
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7. What will be the cost of gar den ing 1 m broad bound ary
around a rect an gu lar plot hav ing per im e ter of 340 m at
the rate of Rs. 10 per sq. m?
Skeâ DeeÙeleekeâej cewoej kesâ Ûeejes lejheâ 1 ceer0 ÛeewÌ[s yeieerÛes ueieJeeves keâe KeÛe& keäÙee
nesiee, efpemekeâe heefjceehe 340 ceer nw leLee KeÛe& ®0 10 Øeefle Jeie& ceer nw~
(a) Rs. 3400
(b) Rs. 1700
(c) Rs. 3440
(d) can not be determined
(e) None of the above
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8. What would be the cost of build ing a 7 m wide gar den
around a cir cu lar field with di am e ter equal to 280 m, if
the cost per sq m for build ing the gar den is Rs. 21?
Skeâ Je=òekeâej cewoeve efpemekeâe JÙeeme 280 ceer0 nw kesâ Ûeejes lejheâ 7 ceer0 ÛeewÌ[s yeieerÛes
ueieJeeves keâe KeÛe& keäÙee nesiee, Ùeefo yeieerÛes ueieJeeves keâer oj ®0 21 Øeefle Jeie& ceeršj
nw~
(a) Rs. 156242
(b) Rs. 248521
(c) Rs. 111624
(d) Rs. 206118
(e) None of these
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9. A hol low spher i cal sil ver ball has an ex ter nal di am e ter 4
cm  and in ter nal di am e ter 2 cm thick. Then, the vol ume
of the sil ver used in the ball is (in cm3)
Skeâ ieesueekeâej KeesKeueer yee@ue keâe yeenjer JÙeeme 4 mesceer leLee Deeefvlejkeâ JÙeeme 2
mesceer nw lees yee@ue keâe DeeÙeleve %eele keâjes?

(a) 28
3


(b) 1

(c) 4
3


(d) 7
(e) None of these
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10. Sur face area of a cuboid is 22 cm 2 and the sum of the
lengths of all its edges is 24 cm. Length of each di ag o nal
of the cuboid (in cm) is
Skeâ IeveeYe kesâ he=<" keâe #es$eheâue 22 mesceer2 nw, meYeer YegpeeDeeW keâe Ùeesie 24 mesceer nw~
IeveeYe keâe ØelÙeskeâ efJekeâCe& %eele keâjes?
(a) 11
(b) 13
(c) 14
(d) 15
(e) none of these
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11. Height fo a cy lin dri cal jar is de creased by 36%. By what
per cent must the ra dius be in creased, so that there is no
change in its vol ume?
Ùeefo yesueveekeâej pee@j keâer TÛeeF& 36% keâce keâj oer peeleer nw, lees Gmekeâer ef$epÙee ceW
efkeâleves ØeefleMele keâer Je=efæ nesveer ÛeeefnS leeefkeâ Gmekesâ DeeÙeleve ceW keâesF& heefjJele&ve ve
nes?
(a) 25%
(b) 35%
(c) 36%
(d) 40%
(e) None of these
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12. A solid me tal lic sphere of ra dius r is con verted into a
solid right cir cu lar cyl in der of ra dius R. If the height of
the cyl in der is twice the ra dius of the sphere, then
Skeâ Oeeleg kesâ ieesues keâes efpemekeâer ef$epÙee r nw Skeâ Je=òeekeâej yesueve efpemekeâer ef$epÙee R
nw, ceW heefjJeefle&le keâj efoÙee peelee nw, Ùeefo yesueve keâer TÛeeF& ieesues keâer ef$epÙee keâer
DeeOeer nes lees
(a) R r

(b) R r 2
3

(c) R r


2
3

(d) R r


2
3

(e) none of these
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13. A solid is in the form of a right cir cu lar cyl in der with
hemi spher i cal ends. The to tal length of the solid is 35 cm.
The di am e ter of the cyl in der is 1/4 of its height. The

sur face area of the solid is take  







22
7

Skeâ yesueve efpemeceW oes Deæ&ieesueekeâej efmejs nw, efpemekeâer kegâue uecyeeF& 35 mesceer nw leLee
JÙeeme uecyeeF& keâe 1

4
Yeeie nw~ Gme "esme keâe he=<"erÙe #es$eheâue %eele keâjes?

(a) 462 cm2

(b) 693 cm2

(c) 750 cm2

(d) 770 cm2

(e) None of these
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14. A well with 14 m in side di am e ter is dug 10 m deep. Earth
taken out of it, has been evenly spread all around it to a
width of 21 m to form an em bank ment. The height (in m)
of the em bank ment is
Skeâ kegâDee efpemekeâe Deevleefjkeâ JÙeeme 14 ceer0 nw efpemes 10 ceeršj ienje Keesoe peelee
nw, pees efceóer efvekeâeueer peeleer nw Gmes kegâSW kesâ Ûeejes lejheâ 21 ceer0 ÛeewÌ[er hejle kesâ ™he
ceW efyeÚeÙeer peeleer nw, Gme hejle keâer TÛeeF& %eele keâjes?

(a) 1
2

(b) 2
3

(c) 3
4

(d) 3
5

(e) None of these
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15. The ra dius of a cir cle is so in creased that its
cir cum fer ence in creased by 5%. The area of the cir cle,
then in creases by
Skeâ Je=òe keâer ef$epÙee Fme Øekeâej yeÌ{eF& peeleer nw leeefkeâ Gmekeâer heefjefOe ceW 5% keâer Je=efæ
nes peeleer nw, Je=òe kesâ #es$eheâue ceW efkeâleves ØeefleMele keâer Je=efæ nesieer?
(a) 12.5%
(b) 10.25%
(c) 10.5%
(d) 11.25%
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16. The area of a rect an gle is 4 times of the area of a square.
The length of the rect an gle is 90 cm and the breadth of
the rect an gle is 2/3rd of the side of the square. What is
the side of the square?
Skeâ DeeÙele keâe #es$eheâue Jeie& kesâ #es$eheâue keâe 4 iegvee nw~ DeeÙele keâer uecyeeF& 90

mesceer nw Deewj ÛeewÌ[eF& Jeie& keâer Yegpee keâer 2
3

nw, Jeie& keâer Yegpee %eele keâjes?

(a) 10 cm
(b) 20 cm
(c) 15 cm
(d) can not be determined
(e) None of the above
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